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The "Overflow” output is generated by the least significant slice
O The "Cin" input of the full adder in the most significant slice is connected to Bnegate
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) None of the answers ]

O The "op|[1:0]" input of one slice might be different from another slice
) The “Less” input of the most significant slice is connected to logic Zero

. @ 0000 0 s




Given that a[7:0] = 001N @ \BIZ:0] = NOHO0DL uheed the fdlloying quastions

Ql: Choose the correct equation and value for c4:
i 1\;_12-: tp3.c3d=0
Gl + PLGOD + PLPO.cO, No enough information to compute the value of ¢4
Gl + PLGO + PLPOCU = |
G0 + P0.cO, No enough information to compute the value of c4
gd + pa.cd

=G +Plcl =0




Q2: Choose the correct equation and value for cb: Time left 0:06

® cB=g5+pbgd+p5Spdcd=]
co=go+p6=0
cB = g5 + p5.g4 + p5.p4.c4, No enough information to compute the value of cé
c6=gb6+pb=1
cB = g5 + p5.c5, No enough information to compute the value of cé

c6=g5+pbch=0

Q3: Which of the following statements is cormact reganding the signals in the 8-bit Carry-
Lookahead adder given dbove?

s4, c4, ¢, c6, and c7 are computed after 6 gate delays
s7 and cB are computed after 5 gate delays

s4, s5, 56, and s7 are computed after the same delay
GO0 and PO are computed after 3 gate delays

® s0 and c4 are computed after 4 gate delays

Q4: Which of the following statements is correct regarding the delay of the 8-bit Carry-
Lookaheod adder given above?




sd, c4, ¢, c6, and c7 are computed after 6 gate delays
s7 and cB are computed after 5 gate delays

s4, 55, 56, and s7 are computed after the same delay
G0 and PO are computed after 3 gate delays

® s0 and c4 are computed after 4 gate delays

Q4: Which of the following statements is correct regarding the delay of the 8-bit Carry-
Lookoheod adder given above?

The delay of the 8! pit/Qamny- lonknhéas merde is U (i €/ gna fount) the delay of the 8~bit
Ripple-Carry adder

The delay of the B-bit Carry-Lookahead adder is 1/3 (i.e. one third) the delay of the 8-bit
Ripple-Carry adder

Mone of the answers

® The delay of the 8-bit Carry-Lookaheod adder is 1/2 (i.e. half) the delay of the 8-bit
Ripple-Carry ooder

The delay of the 8-bit Carry-Lookahead adder = 5 gate delays
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